
MOUIN_PFW6400-6800-6815_V6

TOP TV

ø 10 mm ø 6 mm 

4x Bolt 
M6x30

4x Bolt 
M8x16

4x Bolt 
M8x30

8x Spacer
d12xd8,5x5 

4x Bolt 
M6x12 

F G H I J
4x Washer
Din125 M8

K

1

2

1

1

1

1

2
3

2

BOTTOM TV

TOP TV

3

4 5 6

EN 
DE Montageanleitung
FR 
NL 
ES 

IT
PT Manual de montagem
EL Οδηγίες συναρμογής
SV 
PL 

RU  Инструкция по сборке и установке
CZE Návod k montáži
SK Návod na montáž
HU Szerelési előírás
TR Montaj k ılavuzu

RO 
UK Вказівки по монтажі
BG Инструкции за монтаж
JA 設置の説明書
ZH 

PFW 6400-6800-6815 max. 100 kg / 220 lbs

PFW 6400 PFW 6800 PFW 6815

7 8

9

PUSH = LOCK

SERVICE
POSITION

UNLOCK

HX5

REMOVE TV

6x Fischer 
plug UX10

6x Screw 
SW13 7x80

2x key
C

A B
D E

F G H I J K

2

1 2

CLICK

85 mm

10

PFW 6800
PFW 6815




